KDC-8070R/W,7070R/RY
EXPLODED VIEW (UNIT)

M2x2(BLK) : N09-4184-05
M2x2(BLK) : N09-4185-05
M2x3(BLK) : N09-4218-05
FLAT WASHER : N19-2022-04
FLAT WASHEA : N19-2058-04
FLAT WASHEA : N19-2062-04
FLAT WASHER : N19-2103-04
M2x3(BLK) : N35-2003-45
M2x30(BLK}  : N38-2030-45
M3x5 : N67-3005-46
¢ 2x4 : N80-2004-46
¢ 2x6 : N80-2006-46
$3x5 : N83-3005-46
¢ 2x6(BLK) : N88-2006-45
M3X10 : N64-3010-46
¢ 3x12 . N83-3012-46
M2.6x6 : N86-2606-46

274 277
273

i

20 Parts with the exploded numbers larger than 700 are not supplied;



